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Rajasthan CET 2024 Sr. Sec Level Paper 22 Oct 1st Shift
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4 Where was the World Future Energy Summit 2024 organized?
(A) Paris (B) New Delhi
(C) Abu Dhabi (D) London
(E) Question not attempted
ﬁqqﬁmaﬁﬁﬁr@wﬁmzomaﬁmﬁﬁﬁmw
(a) @ (B) Rt
(c) < amt - (D) @@=
(E) RS |
India- Japan 5 edition Joint Military Exercise ‘DHARMA GUARDIAN’ commenced in which state of
India?
(A) Rajasthan (B) Tamil Nadu
(C) Himachal Pradesh (D) Andhra Pradesh
(E) Question not attempted
T AT SaT HEhUT I e e e SR 3 o T H T g
(Af  TEIH (B) g
(C) femreeTR_T (D) gy
(B) orgafa o4
6  Which of the following team emerged champion of the Santosh Trophy (2023-24)?
(A)  Manipur (B) Mizoram
(C) Services (D) Goa

(E) Question not attempted

frffiaa & & = o I T gy (2023-24) i AT s+

(Ay =g (B)
() wafEaw
(B) Igafa a4 ® L

S17]
<% 2 [rT



10

11

12

13

In India General elections for 18th Lok Sabha were completed in how many phases?

IR 1 8eff e o forl, 318 T fehery =it & of g2

(A) 6 7
© 3 YO (D) 4 B

(E)  Question not atte1npted‘Z mﬁﬁw o Z13_'900 and
If it is given that for two nghtﬁﬂngled triangles PQR and ABC, P =25°, £C =25° sz;Q

C_}L{

PR = CA, then which of the following is true? = . pr=CA
Fﬁ%ﬁmw%%amﬁwﬁmpof{mmcﬁ /P =25°, /C=25° LQ= 41%_?‘ 90° T
=, H‘rﬁ'ﬂ%ﬁﬁﬁﬁﬁqﬂm%‘? P j
(A) APQR=AACB ' (m/APQR = ACBA T "
(©) APQR = ACAB APQR = ABAC D
E -
(E)  Question not attemptelé:i AT 9 0 \%B N
If = cosech =, then \ﬁcot}e-i-l 1t =
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14 Select the most appropriately matched pair of crops.

(A) Rice - Rabi- Basmati (B)  Maize - Rabi - Vijay
(C) Rice - Kharif- Shakfi (D) Wheat - Rabi- Sonara
(E)  Question not attempted
mﬁ%mﬁmma%mmmﬁgﬁm
(A)  STE - Tt - St (B) T - Teft - fororr
(C) A - Gl - yifty @) -l - dEm
(B) STImfa wer
IS Who classified blood in different groups?
(A) Karl Landsteiner (B)  Louis Pasteur
(C) Robert Koch (D) Edward Jenner
.(E] _ Question not attempted
Ferert e faforey et & e ey
&) e e (B) gEum=r
(C) UL =H= (D) TEAEI
(E) guia gy

16 Which of the following antibody is found more in mother’s milk?
ﬁw%f@ﬁﬁﬁm%agﬁﬁqmwﬁ?ﬁmﬁm SAfershar o grar sirar &2
(A) IgD B) IgG
| IgM D) IgA
“(E) Question not attempted / 3ﬂﬁﬁﬁ uyq
17  Match List-I with List-II:

List-I List-IT
(Deficiency disease (name)) (Symptoms of the disease)
a. Pellagra I Memory loss :
b. Beri-Beri Il.  Weakness in muscles and nerves
4 Scurvy - III.  Appearance of dry scales on tongue and skin
d. Riboflavinosis IV.  Bleeding from gums
T -1 R g -1 & gAfor i : ~
Tt -1 Tt -1
(3rqutaT ) (0T 3 TTRroT)
a. Oomm L wfr e (e
b, A L R i et o geferar
c. —wHA ' NI St S ot Sy Sreht oht s 2 -
d.  TEEREEIRE IV. W& 8 T
Choose the most appropriate answer from the options given below:
= ey et # 4 gaifus vy I g ;
(A) a-ILb-IlLc-I,d-1V (B) a-IV,b-Lec-I,d-1I
(C) a-Lb-Ill,c-111,d-1V {(9)’ a-MLb-1,c-1V,d-1

(E)  Question not attempted / ai'ﬂﬂﬁ a9
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3 o 's{'d o
The fourth edition of the “Shanghai Cooperation Organization (SCO) Startup Forum Was organ!

March 2024 in

(A) New Delhi (B) Moscow
(C) Bishkek (D) Shanghai
(E)  Question not attempted b —
TS TraeRTeY ey (o Y 37Y) TSI BT By <o TEHTT 19 HIeA, 2024 w_# syranfire T
om
&y 73 feesht (B) W&
©) forshen (D) W
(E) <raf@yy
Match List-I with List-II
List-I (Country) List-II (Position of medals tally
in Paris Olympics 2024)
a.  China .
b. Britain ii. 4th
c.  Netherlands i, 2
d. USA iv. 1#
-1 s foret -1 3 | A
gEt-1 (39 Feft-11 @ ireifaes 2024 F
Aeer ot oy Rt
a. == 1. e
b. BrRF i, =
c. T iii. U
d. I iv. Uedm
Choose the most appropriate option from below:
=T 1 & wa@ IUF [Gohed 1 99 HING:
(A)  a-ii, b-i, c-iv, d-iii (B) a-iii, b-iv, c-ii, d-i
@y a-i, b-ii, c-iii, d-iv (D) a-iv, b-iii, c-i, d-ii

(E) Question not attempted / STFTRT ¥4

Who became the second Indian to win a gold medal at the Asian Marathan Championship in 20249
(A) Srinu Bugatha (B) Man Singh

(C) Gopi T (D) Kartik Kumar

(E) Question not attempted
rer AR 2024 F w0l ya A ATel G AR i 542

(49 Eegme (B) wHfiE

() T (D)  =hfeieh FHR

(E) FuRaud

Which country has emerged as the world’s second largest producer of Mobile phones?
(A) Germany (B) India

(C) United States (D) Vietnam

(E) Question not attempted

T AT 31 AT T G T SIS HIAEE I IeqGeh Q97 S S 2

(kg St _ \ (B) T
© Wﬁgf;“ (D) T
(E)
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Choose the mos¢ appropriate reported form of the sentence given:
He said to us, “Don’t walk on ice; it isn’t safe.”
He warned us not to walk on ice as it wasn't safe. \0
(B)  He ordereds not to walked on ice as it weren't safe. b-d
(C) Hetold us"ig avoid walking on ice as it isn’t safe. .l.i?
(D)  He said m:t:i'o walk on ice as its not safe. kfg
(E)  Question not attempted "'{
Choose the mostappropriate option to fill in the blanks: D™
I her ___i:"a long time, _ she was a child. v
gé )7 knew, x, since (B) have known, for, since
7 (C)  was knowing, since, since (D)  know, Sincc,&gr
(E)  Question A6t attempted =t

Read the passage andiiswer the questions that follow by choosing the appropriate answer : (Q. 24 to 28)

24

Once we have sé_tﬁ%:d on a perspective, we close off with one line of thatight. Certain kinds of ideas occur to
us, but only thosgéft:inds and no others. What if the crippled man who invénited the motorized cart had defined
his problem as, ‘,.Ef?w to occupy my time while lying in bed?” rather thE “How to get out of bed and move
around the houseg? z

Leonardo Da Vigei believed that to gain knowledge about the form of problems, you begin by approaching
the problem on its own terms. He felt the first way he looked at a problem was too biased towards his usual
way of seeing thiggs. He would restructure his problem by looking at ﬁmm one perspective and move to
another perspectiyf and still another. With each move, his understanding ' would deepen and he would begin
to understand thgg@ssence of the problem. Da Vinei discovered that gc)liiw often comes from finding a new
perspective that fid'one else has taken. (o)

Albert Einstein W$ once asked what the difference was between him andithe average person. He said that if
you asked the avE?éjlge person to find a needle in the haystack, the persofi"would stop when he or she found a
needle. He, on tm:h_'other hand, would tear through the entire haystack Ef)kjng for all the possible needles.
With creative thimng, one generates as many alternative approaches as one can,

Most of us have been educated to think exclusively which means we think’in deficit by focusing our attention
on specific info@ation and excluding all else. In these instances, exsliisive thinking leads us to neglect

it i . T
potentially imp?}iant pieces of the puzzle. Exclusive thinking doesn’%erely inhibit irrelevant facts and
<

perceptions. It Caf.ﬂ also smother the imagination. o
Creative thinkingis inclusive thinking. You consider the least obvious a$ ell as the most likely approaches,
and you look for-different ways to look at the problem. It is the willing"}e@s to explore all approaches that is
important, even[after one has found a promising one. vl
Identify statemenits which are true with respect to the passage:

a. Our settled perspective towards a problem makes us focus one line of thought only.
b.  Lebfiardo Da Vinci always solved a problem in the first attempt .
c. AlBért Einstein would look for as many alternatives as he ¢ppld to solve o broblem.

d. Ex!:é!sive thinking enhances creativity and imagination, e~
Choose the mosf appropriate answer from the options given below: L0

(A) bandconly a and ¢ only v}
(C) canddoply (D)  aand b onlyl™
(E)  Question pdt attempted i

S17] gy 6 [ P.T.0.
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Which of the following statements are not true with respect to the passage?
With creative thinking, one generates as many alternative approaches as one can-

a
b.  Exclusive thinking leads us to the important pieces of the puzzle.

c.  Inclusive thinking makes one look for different ways to look at the problem.
4. Exclusive thinking makes us broaden our attention and look for potential altern atives.
[ Creativity and inclusive approach go hand in hand.

Choose the most appropriate answer from the options given below:
(A) bandd only (B) candeonly
( d and a only (D) aandeonly
(E) Question not attempted
The features that define creative thinking are:
a. Multi dimensional approach
b. Willingness to explore
c. Biased approach
d. Not easily satisfied
Choose the most appropriate answer from the options given below:
(A) b,canddonly _4BJ  abanddonly
(C) a,candd only (D) a,bandconly
(E) Question not attempted
According to the passage, the most important thing with respect to solving a problem is:

(A) To change our education system B) willingness to explore all alternatives
(C) To be focused with one line of thought \‘D)z:m to look for facts

(E) Question not attempted -

Choose the Antonym of the word SURPLUS from the options given:

(A) Inhibit -(B) Biased

(C) Deficit )Bf Smother

(E) Question not attempted

The ancient name of Jaisalmer was

(A) Mand (B) Hadoti
(C) Shekhawati (D)" Vagad
(E) Question not attempted

ST T YT T AT

& T ®) wwK
©) FEmEed (D)

(B) STguRa s

[ P-T.()



https://t.me/TejalShikshaVibhag

30

31

32

33

34

S17]

Select the incorrect statement about subtropical mountain forests, (Choose the most appropriate option from
below:)

(A)  Subtropical Mountain forests are found only in Mount Abu region in Rajasthan,
(B)  In these forests, greenery is available permanently,
© Thcsc:‘.\srcsls can be found in Sirohi which is situated in Raja"s]lhan

(D)  Thesq fqrests are found only in Rajasthan and Uttar Prades]f"'“;1
(E)  Question not attempted

q
aqﬁmmﬁaﬁﬁﬁ?ﬁaaﬁ%aﬁmwwwaﬁl(ﬁnﬁ%%amﬁmgﬁg
(A) Wwﬂmm%mmmﬁmwﬁ,

(B) ﬁaﬁsﬁwﬁﬁwﬁﬁmmﬂ% [

(C)  F& T Rl F wmg < &, it o ey Reer 24 i
T8 S H TR qT 30T F29r 7 a1 77y )

(E)  oTwifee sy

0
wisé) of Rajasthan?
(B) Westerﬁ{&esert plain region
(D) Semi d%egion

N
Which of lhcj:gllowing is the biggest geographical region ( area
(A) Araval»{il;egion

(&) Easterggplain region
(E)  Questio not attempted =i
Frerfeitae o8 o <61 wl st siniforeh 85T (&5t o ST7aT) i a1 27

(A) oRIEErET (Bf et wperettr fer &=

(C) o At &= (D) 31y &

(E) Irgaidsd 0

Which of th&Tollowing Indian states/union territory has the highest:number of wildlife sancturies?

(A) West llsz,ngal (B) Andamhin)and Nicobar Islands
. 7l

(C) I_aksli‘ﬁweep (D) Hnmach:a;I)Pradesh

(E)  Question not attempted . :

P 8 s s o o/ e e iy s e st v 2

(A) e s @B sfer iy Frarar dio T

(C) <= (D) femmeer wam

(B) aigaa

Which of theFollowing is shortcut command for print in MS Ofﬁclf:g
g AT 3 v 3 o e o 1 )
(A) Shiﬂ%l" ( Ctrl + pt
(€)  Alt+Cprl +P (D) Alt+pQ

(E)  Question not attempted / aia?fﬁ‘rl PEl %

; . : >
There is certain relationship between the two terms to the left of ::lm‘\d the same relationship exists perweer
the two terms to its right. Then find which ¢

‘ . . i s ption would replace the question mark?

ST TR 913 9 WA 0 T R it af andt o A v e vy R, wr Ay e
For 5 et i RO Rt bk

GKLP: Qd& i AEFJ 7 .?;

(4) KLR (B) MopPTSH

(9)} MO’I;Bl

J D ort \
(E) Queiﬁon not attempted / Wﬂ“ﬁﬂw "u/k ot

& " 8 o

'—i ' [ P.T.O-
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35  Choose the box that is similar tojthe box formed from the given sheet of paper.
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Choose the appropriate option g&%n below:

e feg g suges fasrea B T4: L0

7/@.' e 5
Tlsq . B
(A) //%‘ i ( )
0
© = || o & | % °
(E) Question not attemptedf%%ﬁﬂuﬂ _
36 fr=fafae # o= TevaTEe gaTHE- Y B/
A # ;:f ¥ 2
© om i< ®) &

(E) Hgaiaws
37 Frefatea i sfaarses g9 T8 30

a) foEm ¢ tB)/rr“ra

(C) @t “3 D) ot
(B) Faiays \O
38 GH-IF G @rgﬂ%ﬁﬁt{j
eI -4 elt-11
(ATeF) (fwam)
a. THU @@ tg L HgwE
b, =Yg R Ts 1L omedes R
c.  farerr foremdf & Rt vaarar 81 L vt e
d. 98 gE I 4l :3 IV,  waEHe
= ﬁﬂﬁﬁﬁ@ﬂﬂfﬁﬁ@ﬁﬁgﬁﬁ:
&Y a-1V,b-1,c-1,d-m ¥ @) a-1V,b-llLc-1,d-1
(€) a-ILb-1V,c-1d-1I (D) a-1Lb-Lc-1d-1V
(B) ST 54
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39  Take the given statements to be true, even il they scem 1o be at variance from commonly known facts, Then
decide which of the given conclusion logically follows from the given statements:

Statements: No magazine is newspaper,
Some newspapers are books,
All books are spoons.
Conclusions;
L. Some magazines are books,
1. Some newspapers are spoons.

(A)  Only conclusion 11 follows.
(B)  Both conclusions Land 11 follows.
(C) Neither conclusion I nor conclusion I1 follows.
(D)  Only conclusion I follows.
(E)  Question not attempted
ﬁqwmvﬁaﬁmnﬁwﬁaﬁmw: maﬁﬁmﬁwwa,mﬁmmm&mmﬁ
ﬁﬁﬁlﬁmﬁu’fq?}
YU T
IS i afirer T T ®
FO WAER-IT g 8
L 3 qfiemd vead )
1. 3% W9 - o w0y §)
Méﬁﬁﬁﬁﬁénaﬁmwm‘a‘l (B) 3 Fred 1w 1 o s
(©) qﬁﬁ@q‘laﬂtn‘rﬁwﬂlwaﬂm%l (D) e Frend 1 armor T 2
(E)  rgefea war
40 ﬁn%ﬁgaﬁﬁ‘am-m'wgmaﬂww%- ?3)/
(A) UM - e (B) RS - Foer
(C) wuz-emft (D) Erft- et
(E) igafa gz
41  Chief Minister Corona Sahayata Yojana is operated in the entire Rajasthan since
(A)  April 2021 (B) May 2021
(C)  June 2021 (D)  March 202]
(E) Question not attempted

TETA T TR AT G e i e & ey g

7 @ 2021 B)
(C) 372021 (D)
(E)  wafraag '
42 BHADLA SOLAR PARK is located in:

(A) Jodhpur (B)
(CJ Bikaner “))
(E) " Question not attempted .

WS HIe g Trsrea & 1978 wr i ey 89

(A) ﬂalﬂst (“)

(E) Fgufayd

S17] csfas 10
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s ey : py S ; . . nin
As cited in the ancient text of Rajasthan that fort of Rajasthan where soldiers who were skilled in the plan g

and strategy of wars, lived in was called as — (Choose the most appropriate option from below:)

(A) Sainya Durg S‘i (3) Parikh Durg tft
(©) Paaridh Durg l}j'l (D) Sahay Durg “‘lJ
(E) Question not attempted g .
W%W%Wﬁtﬁ,ﬁﬁf@ﬁ%Wmmmwfgﬂﬁmaﬁ?jﬁrﬁmﬁﬁgﬂw
@ & 3 wer e - (R @ el Iuen ferehed ;) e
& g = ®) urfa gt o
() urgd v (D) weEal
(E) Fguia s £
People of which Civilizatidd buried their dead with jewellery and ornaments?
(A) Kalibangan § (B) Ahad Ry
(C) Bagor o (D) Gilund <
(E) Question not attempte ”;
Forer T S ST ST AT ST 36 W G A7 ,
w [ *?B) e i
it ™ W) ficrs
(E) 3¥gaia wa s
Karpur Chand Kulish waskme founder of which newspaper? iy
(A) PunjabKesari o (B) Rajasthan Kesari '*J
(C) Rajasthan Patrika g (D) Dainik Jagran L'I}
(E) Question not attempfed “!
i < e fepe gHTER e F HemE A7 e
) wEymt . & (B) T Had 1
(C)  TSET qbH i @y & s
(E) aaud o
The spread of which revolition enabled India to achieve self sufficiency in food grains?
(A) Yellow Rcvolutionw (B) Blue Revolution 1y
. Y . ey
(C) White Revolution ey (D) Green Revolution S
(E) , Question not attempted bt
e T 5 ST T T H ST o T ST 2RO 3 e £ 2 :j
(A) et wfa [~ , ) eft wmifa -
©) @ Fid 4 el wifa
(E) ﬁ:flfm T4 O \D
planning Commission wa:ia'?l ‘up under the Chairmanship of- wy
(A) President N (B)  Vice President }f‘)
(C) Chief Minister  «#t (D) Prime Minister t;g
(E) Question not attempiéd h
o i 1 e f oy syoean i € ng o (s
(A) Tl J 1) Iy b

) wErit ol JlOBR LIl
(B) ordi@ oA

S$17] (ﬁ 1 (P,



48  To protect goods produced in India from imports, Government made use of-
(A) Tariffs (B)  Both Quotas and Tariffs
(C)  Neither Quotas nor Tariffs (D) Quotas
(E)  Question not attempted

Wﬁmaﬁaﬁaﬁmﬁaﬂﬁﬁmmﬁﬁmmmﬁﬁm

(A) B Frer iy A
O TN FT T (D) =T
(E)  3igafa wy
49 Thewa Art is associated with which of the following areas of Rajasthan?
(A)  Jaipur (B) Pratapgarh
(©) Jhalawar (D) Churu
(E)  Question not attempted
TSTET 3 94T ey P 2 forg 87 & geift 22
(4) ® g
©) wEmEE D) T&
(B) Agui@wy
50  “Mahi Bajaj Sagar Project” is a joint Venture of which of the following Indian states?
(A) Madhya Pradesh and Gujarat (B) Rajasthan and Gujarat
(C) Madhya Pradesh and Punjab (D) Rajasthan and Madhya Pradesh

(E)  Question not attempted

“HTEY SISt T aiE ST Freforfias 3 & v & o Tt o igeh w20

(A) e F SRS TSR 37 o
©) ﬂwmﬁ?m+ &) m-ra?r{mﬁw\/
(B) srgafayy :

51  Given below are two statements:
Statement (I): Alluvial soil is found in Western desert plains of Rajasthan .

Statement (II): This soil contains enough quantity of Nitrogen but lacks in Potash and Tron.

In light of the above statements,choose the most appropriate answer from the options given below.

(A) Both Statement (I) and Statement (II) are false,
(B) Statement (I) is true but Statement (II) is false.
(C) Statement (I) is false but Statement (II) is true.
(D) Both Statement (I) and Statement (II) are true.

(E) Question not attempted

f gy e feg g €
HYT - | ; STcilg JT TSEAT o uferdt weeorediy fram & urd wreft )

m_u:wﬁgﬁmamqﬁnwﬁa}aﬁ%%maﬂwﬁamﬁwma
mﬁmﬁ%mﬁﬁﬁ&mﬁwwmﬁmquﬁ:

(AT | ST 1S e g (B) ot 1 wElt & e oo 11 e )
(C) a1 7TeTd & fofr &t 1L et B (D) e 1 3R e 11 2T e &)

(E) aﬂﬂﬁﬂﬂ’.‘«f
S17] ﬁ 12
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“Namcha Barwa Peak” is located in which of the following regions of the Himalayas?

(A)  The Arunachal Himalayas (B) The Himachal and Uttarakhand Himal?
(C)  Kashmir Himalayas (D) The Darjeeling and Sikkim Himalayas
(E) Question not attempted

T st Rrae fEaes & el ¥ @ g 8§ safea 22

yas

(A) T fenreE @y feraer sl FmrEe ferrer
(C) e femrera | (D) aiife si fafrer femmer
(E) oTufa s

& ) . - - . - " t
Pangong Tso’ lake is situated in which of the following sub divisions of the Himalayas? (Choos¢ the mOoS

appropriate option from below:)

(A) Darjiling and Sikkim Himalayas

(B) Arunachal Himalayas

(C) Kashmir / Ladakh or Northwestern Himalayas
(D) Himachal and Uttarakhand Himalayas

(E) Question not attempted

v et =frer Rnre 3 Rl i 4 e Iree § o s & (e S el sug faeed 9)

By st iR Rty e (B) TEUITES feHTe™
(C) ereei/ wrer@ ar Sw afet fewer (D) Temree ok ST ferrea
(E) ¥gafta ud

Which is not a function of the State Human Rights Commission? (Choose the most appropriate option from

below:) _

(A) To discourage the efforts of Non-Governn.aental Organizations working in the field of Human Rights.

(B) To visit jails and study the living condition of inmates.

(C) To spread human rights literacy among the people.

(D) To undertake and promote research in the field of Human Rights.

(E) Question not attempted : ¢

e TR SRR @ F-ar s e 37 (Freffea § & v ST faehed o)
(KSR % o s e W o7 S )t e e

(B) Srii T A o 39 Tt e Star R oh STer e

(C) it 3 ofter AFTaTRIehTC STETT T AT

(D) AR 3 e o ST T SR T S

(E) 3¥gaia 4

By which Indian Constitutional Amendment the ‘Gram Sabha’ has been given a Constitutiona)] g

(A) 73 B) 74

© 75" D) 72"

(E) Question not attempted

frad mﬁmmmﬂﬂwaﬁ'&uﬁwaﬁﬁmwﬁv
() 73at (B) 74af
(D) 724t

tatus?

(c) 7s5af

(B) SFaRawd

$17] ¥ 13
' 0% N
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56 Which of th@following words has been added to the Preamble by the 42™ Constitutional Amendment?
(A) Equality (B) Integrity *)
(©) Fratégsity (D)  Liberty | "
(E) Questlpn not attempted L)
ﬁmﬁ?ﬁgﬁﬁﬁaﬁqmwnéaﬁnmmﬁmmwﬁaﬁgrw??
(A) WF{HT ) oTEEAr
(©) sy (D) Td@Aar |
(E) oTfuia wx pof
57 Which of the following is a violation of Fundamental Rights in India? (Choose the most appropriate option
from belowk): ™
(A) NO“KS"YmL minimum wages to workers (B) Banning lhg:;usc of loudspeaker after 9 pm
© De‘@*ﬂnﬂa speech (D) Banning f tobacco products
(E) eglfm not attempted A &
ey R 8 it e st et (P ey v e )
mﬁ‘ﬁwnﬁquw (B) m9a@raqatﬁam@ﬁzﬁ(qwﬁzmm
(C)  TooT ST (D) TR SeaTa e e T
(B) gLy o :
58  The Preamble of the Indian Constitution starts with the phrase: Ty
(A) Withfthe name of God..... (B) Indiaa Sovereign, socialist.....
©) To Secure all citizen of India..... (D) “We the peoble of India™.....
(E) Quesgon not attempted 55‘
T R B STt Foper e & TE B 3
a) w9 ‘_E;'FT%HT?T (B) W@nﬁ?ﬂwwﬁr
©) m%mﬁmﬁﬁﬁwﬂ... @ T BT ...
(E) i eI
59 In 1983, which of the following Commission/Committee was app@Bted by the Central Government to
examine an _g“review the Centre-State relations in all spheres and recommend appropriate changes?
(A) Sarkatia Commission (B) RajamannirCommittee
(C) Ashbk’Mehta Commission (D) Hanumanth#iiya Commission
(E)  Questibn not attempted o
1983 1, aﬁ?mﬁamwwﬁaﬁrmaﬂtﬁmmmﬁaﬁwﬁmqﬁaﬁiﬁﬁwﬁwmﬁ%%qmm
zm & 4 e ottt < Frgfes o1 g ofy
) o (B) umﬂﬂﬁﬁl
(C)  vivg Hedr SR (D) Bﬁﬂﬁmm@
(E)  wrqrfrg wa N
60  Chairmap ofjRajasthan Public Service Commission is appointed by \ﬂt"ch one of the following?
(A)  Govefnor (B)  Chief Justigg of High Court
(C)  Chairrhan UPSC

(D)  Chief Mirfigter
()  Quektion not attempted v~

TSI vy dram siran & sveae 6 fyfen foafafias 3§ @ fra & g Sramd &2
X T (B) 3o SaraTéred 3 wea =i

(©)  vremg 7 di war 4 (D) vy
(B) srufawa

S17] Eﬁ . 14

[ P.T.O.
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62

63

65

Which is the dialect of Kota, Bundi and Jhalawar region of Rajasthan?

(Choose the most appropriate option from below:)
(A) Malvi

(C) Bhili

(E) Question not attempted

e & e, S SR AeEre & oY sl e e 22

(B)
(D)

Hadoti
Wagadi

(et 71 @ el I fored ) CB/
(A) WL Sl
© e (D) amT
() FaRa A
In Rajasthan Bichchiyo, Lalar, Nokhila and Shikhar are:-
(A) Folk Songs (B) Folk Dances
(C) Playing Instruments (D) Folk Dramas
(E) Question not attempted

arer, Afaer 3 firet TS w &

it Tt (B) T
(C) drrEA (D) diHAREH
(E) gia 9%
Who is worshipped as a warrior with spear in hand, or as a snake demigod in Rajasthan?
(A) Gogaji (B) Pabuji
(C) Devnarayan ji (D) Ramdeviji

(E) Question not attempted

ﬁaﬂqmﬂmém@a@%wﬁmm%w%mﬁ@aﬁﬁv

T St (B) s
(C) ARSIt (D) THea S
(B) orqaiayd
Where is marble dumping yard in Rajasthan?
(A) - Bundi : (B) Kumbhalgarh
(C) Bikaner (D) Kishangarh
(E) Question not attempted
T § ATt Sfid At el 87
(A & (B) _griemg
(© iR «0) PR
(E) 3rquaftd 94

Mukhyamantri Laghu Vanijyik Vahan Swarojgar Yojna in Rajasthan has been notified on:

(B)

(A) 11 October 2022
(C) 19 December 2023 (D)
(E) Question not attempted

15 November 2023
12 December 2021

mwmﬁg@nﬂagmﬁﬁ%ﬁww&wmaﬁwaﬁqﬁmmw%?

(A) 11 3Tag 2022
(©) 19 feE=w 2023
(B) gaiawsd

S17) sl 15

=

15 TEET 2023
12 st 2021



66 3B A e s o 8- 7 -
3)

&), e st & e P
(©)y @13 gt sy (D) arimam
(B} orgaia wey o
67 el Wﬂﬁmﬁ@ﬁwgrﬁa’ﬁwm%- o
J(j.;’)i/ EEGD) (B) ftar
®) st vy © w

68 A ray of light is incident on a

lane mirror n i inci
refiotion i p ormal to its surface. The angle of incidence and the angle of

A' 1 ° ne H ¥ lp:ﬁ

Ea‘)]) (S;S ;)2 respec.twely - (B)  09£90° respectively
) 0% Tespectively (D) 90°%'90° respectively

(?} Question not attempted \O

Wﬁmﬁwmm#@ﬁﬂwaﬁm%aﬁmmﬁﬁ?ﬁ%laﬂ%mmﬁwaﬂtwaﬁ#aﬁwéﬁr-

(Aj{ :90°, 0°
5 m = }© o
el o e
2 (D)  RHET: 90°, 90°
(E) Igaf@uy
e . 1
69 Tw ol 1dent1.cal prisms P, and P, are placed as shown in the ﬁ“%re. A narrow beam of white light is incident
. o
on glass pflsm P, as shown in the figure. The emergent beam_ﬁi-om the prism P, falls on the second prism P,.
T&e) resulting emergent beam from prism P, on the screen contains:
o
< A B O
r
B~
o~

Screen

( Spectrum of light as VIBGYOR form bottom to top onﬁthe screen
(B): Beam of white light on the screen L

(@) No light is obtained on the screen &4

(D)* Spectrum of light as VIBGYOR form top to bottom on'the screen
(1‘3'51 Question not attempted

r-l .
Ardday firq P, 3 P, Tt 3 78 @1 ST & S f 3 Rt ) U HHoT AT weTeT AT e
fi53 P, e carafere e st & St o o e v 81 vt 1 <61 rkr fvcoer vt p, w31 vt .
¥ Sftonefr FaoTder S 90 9 Tl & 3a e 2 9 ' :

O

P, : A

; 9]

8 <!

@ W0

1 v

4 ™
(&) T 9T A @ YL, TH H WFA VIBGYOR FFTH |

BN T T A TR T g
(C) W& WX T Wb Tel wgm
D) o S A, W o g VIBGYOR ¥ w9 i

(B) rgafa ¥4
S17] ﬁ | 16 RO
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70

71

72

73

74

817 . 17 -

J'( from
The angles of elevation of"thc top of a tower from two points A and B at d]‘;tqncc pandq respectwcly,
the base of tower and in:the same straight line with it are complimentary. The, hclbht of the tower is:

w%%w%a’rﬁ%ﬁr A 3R B, S AT tﬁm%mfzwvﬁ%ﬂi@fﬁp TqIAAE, @fméﬂﬂé
& I IV e 2 HATL eht Frd R H*
| £
@ P [~ # o ® (pa)? %,
w p\/‘; v ' Dy P-q |
(E)  Question not attempted / 31':13?1'9\?{9’3!
If the lengths of diagonald of two squares are in the ratio 4:7, then the ratio of their areas is: . X
uﬁﬁﬁ%ﬁmﬁ@raﬁaﬁmmﬂa L s A - El%
(A) 16:49 "““i! —i];)/@q -343 ”? . ) A
© 21 0 47 A e A
(E)  Question not attempted / ST T : r:"; )% . %
Select the incorrectly nfatched pair of biosphere reserve and its region. %m: PN
(A) Thar Desert - Ra]asthan (B) Kanha - Madhya Pradesh, Uttar Pradesh
(C) Manas - Assam : ) (D) Nilgiri - Karnataka, Kerala
(E)  Question not attethpted o e
Tﬁaﬁwmﬁ:&%%éﬁaaﬁ%aﬁmﬁt B’/ <
(f A R, T
w | D) frefir-wiess, Fe.
( ) mﬂﬁﬁw - T a;%
Select the incorrect statemient about the genctlc code )
(A) 61 codons code Hlamino acids. i
(B) UUU code for phenylalanme .
(C) AUG only acts a%pltlator codon and has no other function. \i’j
(D) The codon is tnplgt’ ' Fj
(E) Question not attempted gt
AT Tz (ST H1E) % TR H TeAd For bl U W
(A) 61 Frer Y st 3 fore et e 8 o
(B) UUU &rﬁ?@rrﬁ; for eerE Rl 8l , b~
(C) AUG ¥ aﬁ@?%wﬁwwﬁlmmaﬁéwqﬁ%ﬂ
(D) e fgudre (R EraTel O
(B) wrgaf@wg < gt
Which of the following'filrogenous base is not a component of DNA? Tg]
(A) Cytosine o (B) Adenine b~
, 0 i w
(C) Guanine ol (D) Uracil e
(E) Question not attempted t~
et & 2 v S (07C) S O Qo I 7 2 v
(A) @R , - (B) e
©) wEE ; ‘ Q)
(E) SIguitaws '



75

76

What is “Fly in” in MS power point?

(A) Pagedesign (B)  Animation effect
(C) System command (D)  Colour scheme
(E)  Question not attempted

TH O TR U1 % “wed (Fly) 370 a1

@) R Oy ofire g
(€ Tren ez (D) e Ry

(E) Tgafta wsy

Which of the following statements is NOT true about floppy disk?

(A) Datacan only be read or write when write protect notch is closed or covered,
(B)  Floppy disks are made up of Mylar Plastic.

(C) Mylar Plastic surface is coated with iron oxide (magnetic substance).
(D) Only 1.44 MB can be stored in some versions,
(E)  Question not attempted

éaﬁmwmm%@mm%-mmmﬁaﬁmmgaﬂal

Jj%@%a&ﬁﬁwﬁa@ﬁﬁ%aﬁ?mwwﬁ%

77

78

79

)
ATt feeh wrser wifiess & s et )

& WIS weTfeeeh i Were oiie SAfree (qesh vant) & Sfta it 3
FO W T Faet 1.44 Wl & ueia e s gaar 21

(E) Aguiaws

Ethanoic acid reacts with carbonates to form -

(A)  Salt, carbon dioxide and water only (B)  Salt, ethane and water only

(C) salt and water only (D)  Salt,nitrogen dioxide and water only

(E)  Question not attempted
CIHTSh 37T ShTaTel & |1y STRIfEHaT ek aemar & -
(A) hac FE. HTe SE3iFETES IR ST (B) Il AT, U TSI

© FaaEan s (DYt v, TR TSR S
(B) srgafaux

The property of carbon which is responsible for the formation of long chains is called:

(A) Sublimation (B) Carbonation

(C) Hydrogenation (D) Catenation

(E) Question not attempted

FT T T T S AT AT S % T I R, Feerar

(A) SeduTa (FeeTHT) (B) FERYR _

©) ISR Oy FR (s

(B) oyaita w4 . | |
Electrolysis of dilute aqueous NaCl solution was carried out by passing 20 milliampere current. The time
required to liberate 0.02 mol of hydrogen gas at the cathode s :

T Stefra NaCl farera o7 faga-sraee 20 foeft uffga WW&HWWWIW@WE@@W%%OM

tﬁaa&}g?ﬁaﬂﬁ&aﬁmwﬁwanamm%-
(A) 28.95x10%s (B) 193x10%s
(C) 38.6x10%s (D)  9.65x10%s

(E)  Question not attempted / 3Taftd 7
" (P.T.0.



80

81

85

86

8

S1y ] 19
i [Prg

“qeh G 311 <l & 39 arerieT & fore ueh wreg -

(A) TR “} (B) g

© e 1 ® e

E) FEE@TE
£

(1; =g Fe (B) et

©) fE r4 (D) o

() EERawa

Wamwhmiﬁ%sﬁ%ﬂwﬁ_

(A) HG - T8 ;‘ﬂ (B) T - et R

(® rTEE - F (D) 3T -

® oo G

afeies Y% ‘Valid’;%}mgfﬁ%ﬁ el &-
@ W ®) v %
© af fafem=
() afayy \D L

g
Choose the most appmé:rmte English translation of the given sentence

5 o fehaTer T BIET? st

31"

(A) The book was %6m by Rudra why? (B) Why tear the book, Rudira‘?
Why did Rudrgifzar the book? (D) Why the book was tori’by Rudra?
(E)  Question not attempted :"
Choose the most appropriate option to fill in the blanks: ;»%
Do you know ‘\.i'} in London? Yes, my friend Arun lives near London. But in case he is
out of town, I will hairf; to go. 83
}J’()/ anyone, nowherg; nothing - (B) anybody, somewhere,f"ﬁﬁwhere
(C) nobody, anywhére, something (D) someone, X, somewhe}*g
(E)  Question not aftEi'npted i \D
Choose the most appropriate option to complete the sentence. ;}":: _
In an official letter the ‘subject’ is . y
icial letter :: | subj m/ - il
(A) stretched and relévant ¢ brief, clear and relevant
(C)  vague and pre %gé (D) aslongas possible ¢}
i o i
(E)  Question not attgmpted L;!;
Choose the most apprpriate word to complete the given sentence: o
' was advised not to 1‘6‘;‘!61. the streets after sunset. €}
o for A g/ww ~
ysp(' o ) about i“'
4

(E) " Question not attempted

. i
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88

89

90

91

92

93

Match L st-I with List-IT

List-I List-IT

the south of Germany. I. at
Were there many people

a.

b.

Munich is a large city

the concert on Friday? 1I. during
cating. III. in
the meal. IV, while
Choose the mogy appropriate answer from the options given below:
@ a-Mb-1v,c.m,a.1 (B) a-Lb-I,c-II,d-1V

© a-v,b-mpc-1m4-7 O a:lLb-Le-Iv,d-ml
(E)  Question not attempted

c. We shouldn’t speak

d. We didn't speak

Choose the word closest in meanin g to the underlined word:
People thronged to pay
(A)  obedience

homage to the departed Ieadt;;./
(C) alienation

tribute
(D)  humility

(E)  Question not attempted

Choose the word which is similar in meaning to RELINQUISH

(A) offensive (B) persist
abandon (D) residue
(E)  Question not attempted

When the minute hand covers a distance of | hr 25 min, then what is the angular distance covered by it?
5 Pre g 1 ver 25 e g mr a2, ﬂm%mw%mﬁﬂvﬁaqﬁwﬁhﬂ?
510° (B) 480°
(C) 450° D) 375°
(E)  Question not attempted / ST &

If ‘MEDICAL’ is written as ‘DEMILAC’ in a certain code language, then how is ‘COMPILE’ written in th:

code?
4% ‘MEDICAL’ %1 T %1€ T # ‘DEMILAC’ forar smar 2, o "COMPILE’ %1 39 e # 3 feret smam
(A) MOCQELI (B) OMCPILE .

&~ MOCPELI (D) MOCPELO

(E)  Question not attempted / 3Tafa Wy

1 1 ]

i =l+—+ + iy then sum of its infinite ¢ is:
If the series S=1+ 1+2 14243  1+2303 infinite terms is

1 ] 1 8 F 4
AR S =1+ o+ b o, T A0 6 ST T T

1+2 )

@ ® 3

1

' D 3

<) 2 2
(E) Question not attempted / 3TTART 731 MO C PELI‘

S17] i 20 [ PT.0.
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94

95

96

97

98

155 Bz 3°
% 6 &
DO

Two numbers are in ratio of 21:26. If 8 is added to each number, then new numbers are in ratio 0
the ratio of numbers, if 2 is subtracted from each number, g@% E@T aq
4t HEATT 21:26 3 STFAT H 81 AT Wk F 8 ey wmy, &1 7 AT hT AT 5 6 @ 2171
2 FETIT ST Al HEATST T STIT a5y _glj q
A 14 ®) 45
M:ZS ‘ ®) 2:3

(E) Question not attempted / 3w Wy

nt
A shopkeeper bought 6 articles for T 5 and sold them at 4 articles for Z 6. Then what is his gain peree

forelt PR T 6 U 5 T @lE FIR R 6 3 4 gaii foem) ey s T T A

A) 65% By 72% % =5 %
©) 80% D) 29% 5
(E)  Question not attempted / STTRE W&

The point A (13, 18), B (-5, 10), C (-13, -8) and D (5, 0) taken in that order are the verticesofa ﬁ;‘&
(A) Trapezium (B) Square )
(C) Rhombus (D) Rectangle

(E)  Question not attempted G

g A (13, 18), B (-5, 10), C (-13, -8) W D (5, 0) B S Fg H Ay 10y g

(A) goels TS B) @t g G

@ i ©) @

(E) guia vy | C- \1

Total surface area of cube is numerically equal to the volume of the cube, then find the diagonal of cu

(A)  6V3 units (B) /3 units —410
(C) 243 units D) 6 units

(E)  Question not attempted
@Wm@mmmmmwmﬁm%m%ﬁmmwm%
1

(A) 63 TS B) B3R

o 2FwE ©) 6w

(E) srgafayy

Four players A, B, C and D are standing in a field in such a way that B is o East of A &

Aand D is to North of A. D is standing in which direction of B? 1S 1o the SOUth o
(A) North (B) North-West

(©)  South (D) West

(E) " Question not attempted

SRAEeTEh A, B, Cwd D AT H ACA AW AGA TS EHAH @ B, A ¥ oy
B % g fer # p war 27 i C"’ﬁTA&:%\.ﬁ
O (B) Iwafiny D,

© wogkis D .

®)  srufgwy c
& 21 fﬁ[’)

[P-T‘Q
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| B

99  Find the number of triangles in the given figures:

s smgfy gt e T
e il
!
L)
wetd , i
(A) 15 O B) 17 =
©) 14 ;:{ D) 13 ,_
(E)  Question not attempted / gl v n
100  Shri Lal Joshi, Phad artist, belongs to which place in Rajasthan? &
(A) Jaipur 6 (B) Sikar !
(C) Churu « (D) Bhilwara '

(E)  Question not t'emptcd
S FHATHR 2 AT SR TSTEIH o foher T & wsiferg 9

©) IE H | f  errer -4
€) omar@wy b

101 Who can remove the Governor of a State? (Choose the most appropriate oét’;;in from below:)
(A)  Chief Minister (B) President :
(C) Prime Ministg\&i (D) * Chief Justice of ':[\h?’dia
(E) Question not E‘ttiempted {8
TST & TSI i e gohdm 82 (Frefafaa § & ged 307w faswer 1)
(A memEEft O @y T i~
© wEEHr (D) T o T =raTefter
(B) orgaiayd [~
102 On 2™ QOctober 1934 who inaugurated the modern three tier system oi‘lPanchayatl Raj in the Nagour
(Rajasthan). Q'"J
(A) Mahatma Ga}lﬁ?u (B) Jawahar Lal Nehru
(C) Sarojini Na]dth (D) Lal Bahadur Sha\tn
(E) Question not altempted
forms 2 sy, 1959@memﬂwmﬁwﬁmgﬁaﬁﬁﬂﬂwﬁwmﬁmw
(A) mEEETT <) TR ST e g
(C) wufert amag ™ (D)  ATT STETST Sl
(B) wrafawg W
103 The idea of ‘Welfare State’ in the Indian Constitution is enshrined in its ﬁ
(A) Fundamental Rights (B) Preamble :
(C) Seventh Scheﬂq!e (D)

Directive Princilﬂgs of State Policy
(E) Question not atfempted :

TR fera™ 7 “HEGITEH Teg a7 e ¥ fafga R ‘t:
(A) Thferes st (B) W&TEAT L
(C) 7ft arget t:-l ,(B)’W%?:ﬁﬁrﬁ%.‘umﬁma
(B) 3ia ud

S17] F 22 [ P.T..
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106

107

Shl )" Question not attempted

4 What is Himalayan yew (Taxus Wallichiana)?
0

(A) Atype of soil which is found in Himalayan region

®) A folk song of Himachal Pradesh

©) A Medicinal tree

(D) A type of Tribe

(E) Question not attempted

ferera (2 ST o1 2

g7 o 0 STt fe 8 A T S 2 () frrer i o e A

©) T AT g (D) SIS 1 U YT
®) |

The river of Rajasthan that drains into Arabian Sea is.

(A) Banas (B) Chambal

(C) Kantali (D) Luni

(E) Question not attempted

T i 78 T S oS W et R -

(A) T (B) =i

(C) hiaeit Dy
(E) ufa gy

Which one of the following rivers flows in a rift-valley?

(A) The Narmada (B) The Ravi

(C) The Gandak ~ (D) The Yamuna
(E) "Question not attempted

Fraferfiae & & st 7<) ferviar-aet & st 22

(A) e ®) Tt

© s APy

(E) sryafta s

Choose the most appropriate option to fill in the blank:
Aditi has been working here
(A) six months e, (B) six months before

" for six months XY since six months

(E) " Question not attempted

Choose the most appropriate passive form of the word: dec!arc to fill in the bl
The olq houses in town unsafe by the authorities,

(A) are declaring :""le been declareq
(C) declare (D) declared
®) " Question not attempted

00se the most appropriate option to fill in the blanks:
~—___postman’s little boy said that he'd rather be

; t night, \
Pecause dentists don’t get called out ami A, the, th e cardinl 1
(@A) The, a, a, x, x e e “ein

The, the a, x, x

dentist thap,

© (D) X, 8,a,a,the

23

- ————

T T £ i 4 S TR



I -‘
1, 4x+3, 10 \O
The numbers 24,34, :46’ 48&;:!: +1,4x+3,105, 110, 114, 123 are written in ascending order and the meg
Y Thevalueof X150 1) Iy
;:ﬁzu@mﬁ 24, 34, 46, 43,:2(: +1,4x +3,105, 110, 114, 123 Fr a5 59 (anﬂ-gaqu i foran e & st g
b 778, R e .
) 22 . 25 = 5
©) 30 v (D) 20 r=|
(E) Questionnot attempted / 3T T4
111 There is 50% increase in Y amount of money in 5 years, at simple interest. Wlﬁ‘t will be the compot
terest on T 1 5,000 after 3_ 1g_:ars at the same rate? gt
m@@mmw@}mﬁmmé, 1 3w 5 Tt & 509 o gfig At &1 S B AT 15,000 F A
35 T o = A B o
(A) 4,800 o (B) 4,900 =
% 4,965 v D) T 4,960 e
(E) Question not attempgg / :ﬂfﬁﬁﬁ Bl =
112 To boost economy and getting State Government approvals Rajasthan Micro, Small and Medium Enterpri:
(Facilitation of Bstablishme{iﬁand Enforcement Amendment Act, 2023) has increased the period of exempti
to MSME from: it ﬁ'
(A) 2yearsto4years L} © (B) 4yearsto 5 years fi
(C) 3yearsto5 years ‘@’_ (D) 3 yearsto 4 years !:?)
(E)  Question not attemptec | 5--; :i'
aﬁsqawﬁméiaﬁt;ﬂi Wﬁﬁﬁ;ﬁéﬁ%ﬁtﬁﬁﬁﬁﬁ,ﬁgaﬂtmmmaﬂtm
e G s, 2023)% T TE T S (MSME) 1 g2 1 srafer s -1
(A) 28498 (B) 48534
©€) 3&s5ad W0 @f 384ad 0
(B) Iuidyy gt E{;
113 The Rajasthan Panchayti R@Act (RPRA) came into force from: =it
(A)  April 1992 < (B) January 1992 W
(C)  April 1994 -l (D) January 1994 v
(E)  Question not attempted 1“";
TSR STl T iy (emedtor) & T g 2
;:/)/ 19T 1992 (B) ST 1992 e
) =1 1994 0 (D) Sat 1994 o
(E) srafauy < Ty
114 Integrated circuits (ICs) are:pelated to which generation of computers? :‘:ﬁ
(A)  Second Generatjon 46 (B) Third Generation ‘!:}
(€)  Fourth Generatjo, 4 (D) First Generation ;:
(.E) Question not altemp[e\ =
%Hﬁ’_‘m&)ﬁ“ﬁm%maﬁﬁﬁﬂﬁ?
r ey e s »
g (D) ToH WA
o L ,  Jor 0
] ﬁ 24 I"“ _.-;(0 o [P.T'
. lo h '



1 Corpm'ation?
15 Which of the following is the transistor’s capacity of the first microprocessor Pmdllced by Tnt
praferfed o ¥ ot 37 SO g Al uedy fr 2R a9
gy 10 ) 2300
@) A ®) 1700
(E) Question ﬁdt‘uttcmpted / W‘ﬂﬂﬁ oq ‘:3’
%l
116 Which of the follo»}'mg command of excel will take you to the next wdgcbook wmeW“
@amﬁmﬂﬁaﬁ#wm YT STt
achapeh fefe e o sem? m
(a) Cul+ Page UP (B) Ctrl +Shift ﬂs / Tab
c) Ctl+F6 ﬁ;rab Ty
{ . ‘-.-e.».»i ’LB‘)/ 6/ 1 'i"‘i |
(E) Question rlot attempted / 37T 77 g
i ight
117 Some girls are standmg in a queue. If Kavita who is 11t from the left en,gjlnd Babita who 1S gth from the 118
end interchange tf tﬁelr positions, Kavita becomes 15" from the left ehd. How many girls are there in the
queue? ifi % I.f)
wag%mqamfisﬁ@ﬁ% e oR Y 113 T R @taﬁmﬂ%ﬁ@ﬂﬁﬁmm%l aft 5T T

B et s AT Al S s SR Lﬁmwﬁﬁ@awma

W
1
© 27 D) 21

(E) Question ngtattempted / FE T 0

N =i
118  Some students aré & 8tanding in a row facing in same direction. If the pogition of John from left is 32 and from

right is 15, then how many students are there in the row? =t

mm@ﬁﬁ@ﬁﬁmﬁwm@ﬁm&wmmm%anaﬁammﬁama st

feh 7 feremfefa Effl;lil@T feparit 27 3 3
P ol 15
; (A) 47 v By 46 ’ ! C1
i (C) 48 (D) 45 O ‘ g\
(E)  Question ng? attempted / TR T4 b | Ay

19 Pis the son of R;lfi and Q are sisters; Z is the mother of Q and M is tﬁ son of Z, Which of the fi
0“0\\(1

statement is 1ruc‘?N' \Q
(B) RandM ar&Slsters,

(A) Misthe mgi;rnal uncle of P.
(D) MandP argcpusins,

(©) Qisthe gr!é'ﬁ‘dmolhcr of P.

(E) " Question not attempted

P,R 3 Rnﬁpa%%% z Q;ﬁwsﬁ%&ﬂ(M zwy%nﬁwﬁ&aﬁa-ﬁq

M, P &1 9THIR (B) R@Mﬂﬁ %%
© (D) Mafp £ iy
Qmﬁ:ﬁmﬂl PR ‘1__(:3 —Ey
Sl"I ﬁ i 25 rrj \
e v
v ! , [ Nt
| P1g,

B
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the incorrect statement in context of Bhilg :
L i
20 Select okt them in Hinduism he started th Bhy Jasthan g i
(A) ; ¢ Britishers felt that the objective of this OVemen. ury,

(B) ftim ation of a Bhil State. S0cig] reform
0 .
© He orgamsed monthly meetings of Samp Sabhg

' i ; n t
o it social and moral upliftment of the Bhilg of Ry; he Managarh Hills
Question not attc.mpted Yasthan, Goy: i

(D) e T 3 T 6 STl 3 WSR3y ey N
() RS T R T o oy
121 Which of the following storage device can store maxj
axi
(A) Floppy disk (Bm“m ém()unt of data?
(C) Optical disk D) HOmpa‘ct disk
(E)  Question not attempted ard disk

Freafiias 3 3 2 a1 ST e St e
(), Wi o W 8 S2T W a5t wraper

ey (B) =i fown
(E) 3rafe wy | °
122 Which of the following
0 8 15 used for spell checking in excel?
iiﬁﬂm%mﬁwﬁ%ﬁ?ﬂwm o strar 22
©€) F7 . ?[3); 11;61
- g?n)l . hQuestion Not attempted / ST T
ich of i i ;
of the following function displays current system date in spreadsheet?

) Tods ﬁﬂ?mwmﬁaﬁqﬁﬁmﬁfﬁuﬁmﬁ
‘) (®) Today{ }

© Today @
I B) " Question not (D) Today[ ]
4 Which of the attempted / 3{3?!‘?{?[ gor

(A) Al gnmeiltOWing is NOT a character formatting in word processing tool?
©) Effects (B) Underline

(E) Quesgi%“ N0t attempted (D) Font colour
(4) Ty il a&qaqvﬁ%rragmg\aﬁ%?

0 ©) o
s p Ty Vot
neta[—y i o . 1
Eé) Subsidy e given by Government for production activities is called
(E) Licence (B) Quota
) (D) GDP

Questigy,
ey no

Hisgg; TR ST 8-
(©) e " mﬂmﬂaﬁﬁmﬁiﬁa’gﬁmaﬁm

() hle]
S17) ST sy o SEd

26
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126 Heating the sulphide ores in the presence of excess of air is called:

(A) Roasting (B)  Reduction if
(C) Electrolysis (D) Calcination ;l,
(E) Question not attempted it
a1 s e 1 ALt e st i o ey oy e e - o
wol @R 15 (s ~
S, TgremEe. (D) | ()
) T
| 127 Anodising is: £ {‘ﬁ
(A) forming a thick oxide layer on the metal surface ;1;
(B) depositing a 13Y§I§j of zinc on metal surface s 4
(C) oiling the metal fz:fl__s_rfacc ‘j
(D) painting the metalisurface i"“
A

(E) Question not attéﬁipted

b

TR & prf
M%m“wméﬁmﬁﬁhm B) H@ﬂﬁ?ﬂ(ﬁﬂ?&%%ﬁﬁﬁﬁm
(C) U TR R A T D) W@Hﬁgaﬁa—_&m[;j
® smatawm o <
1) 0
128 The electronic conﬁgur&;ions of three elements A, B and C are: o]
A-2,8;B-2,8,7and€-2,8,2. ’ ™
Which of the f‘ollowingg‘tatements is true? I
(A) Bisametal. :,s (B) Cisanon-metal.
(C) B isanon-metal and C is a metal. (D) Aisametal :g
" (E) Question not attéfpted i
AT acr A, B 3R C ¥3§a§1ﬁzﬁﬁ=mm g
A-z,s;B-z,s,nfifgic-z,s,z%t '
Frerfefiaa i & 2 @1 4 ¥ed 7 P
(A) BUF4Yel "'5 (B) Cuhamgd T
ey B s @ ea{rz_;cqmmg%l (D) ATHHURR .
129 f\il)a e P . ot in the given reaction? i &
ich of the following s the precipitate 1n 8 Ty}
s i e 0 ST &7 <
Na,S0, (aq) + B:aClz (;93) —s BaSO4 () + 2NaCl (aq) :E:
(A) BasSO, (s) L (B) BaCly(aq) ™
(D) Na;SOy(aq) i

€7 NaCl (aq) ;:f
(E) Question not atten?pled / aﬂﬂﬂﬂwﬂ

Sl-)' ] ﬁ
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130 Match List-I with

List-IL :

List-II

(Effect)

Gain of electron

Electron accepting species
Electron loosing species

Loss of electron

-1

(T9T) _

T o e

s e O arelt i (Srfe)
<A a el et ()
A T

a-IL,b-IV,c-1,d-1II

List-I
(Reactionchactant)
a Oxidation L
b. Reduction 1.
c. Reducing agent ) 1L
d. Oxidising agent 2
@-Ia&@—” ﬁgﬁ%ﬁ‘oﬁﬁq :
Feit-1
FravER®)
a ST R L
b. 3AqEeA L.
¢ OENER 1L
d. AR v
Choose the most appropriate answer from the options given below:
(A) a-ILb-I,c-IV,d-1 (B)
4y a-Lb-IV,c-TLd-1I D)

(E) Question not attempted / anﬁl'ﬁ?f T
131 Select the incorrecty matched pair of National Park and the state. (Choose the most appropriate option fro

below:)

(A) Satpura National Park - Tamil Nadu
(C) Kajiranga National Park - Assam

(E) Question not attempted

T S TT US4 & S S 7 =4 ) (e 3 & wedl Sueh forsrea =)

_,(A')/ HAYST U SaH-aferg
(C) T U IUH-79H

(E) orgafawx

132 Select the method used for calculation of real value of good seed.

Germination percent x Purity percent

(A)

100 (B)

© 2 (Germination percent + Purity percent)

100 (D)

(E)  Question not attempted

U 3 SfiSt % AT 7T 3 e 3 ferg gwa ot s el faftr i gfe

(ay  FFTT I X e whver

100 ®)
X 2 (FFTT TR + g whrera)
100
®)  smaferss
28

S17] ﬁ

(B)
(D)

a-IvV,b-Ic-1II,d-1II

Kevla Dev National Park - Rajasthan
Bandipur National Park - Karnataka

(B) AT UK ISEH-TSEATT
(D) AR T IUH-SFATeH

Germination percent

Purity percent x100
Purity percent
Germination percent 100
SIgT AR 00
AT whasr
I Wi 100
ST Wik



peﬂ

133 gelect the incorrectly matched combin y Mcndel in

p]al'lt.
(A) Seed Shape : Round / Wrinkled

() Pod. Colour : White/ yellow

atio i
n of characters and contrasting traits studied b

(B)  Flower position : Axial / terminal

(E) Question not attempted (D)  Seed Colour : Yellow / green

'5 nfhﬁ SR T % T et e weAter 1 9
) S e g B) oy feufi : svafr fided
——— (B) g : 3
© T S (D) sffor a1 o1 : e/ &
() IR TA
. * . = ts,

|34 Anbio-active molecule, » that is used as an immunosuppressive agent in organ-transplam patien

produced by a fungus.

(A) stating (B) cyclosporin A

(C) lactic acid (D) streptokinase

(E) Question not attempted

wabrE e T Wmﬁuﬁmﬁfﬁmm%wﬁﬁﬁﬁﬁmwa esel

AT G e @ TehaT ST R b{(

(A) v B wrsFEERE-T

©) dfies vt (D) WS

(E) Sraiaud
135 Select the incorrectly matched pair of plant and its economically important part.

(A) Papaver somniferum - fruit (B) Emblica officinalis - fruit

(C) Cinchona officinalis -Bark (D) Centella asiatica - Bark

(E) Question not attempted

TR i s STl Tae ATy ST 35 T et ey S gl

(#) W - w e STERATR - et
(C) famnrn sirhifaafera - o1 (D) Heer ufief - BT
(E) qafaud
36 Choose the most appropriate English word for the given word- 3T,
(A) _Seizure (B) Regulation
Abatement (D) Deferred

(E)  Question not attempted

137 Choose the most appropriate word t0 complete the following sentence:
An inscription on a tombstone is termedas ____——~
(A) agrave (B) an epitaph
a sermon (D) acemetery
" (E)  Question not attempted

s’/%e the word opposite in meaning to ERUDITE
A) (B) Crude

Illiterate
(©) Learned (D) Boring

(E)  Question not attempted

817 5 - 29



139

140

141

142

143
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In which Indian state the rare butterfly ‘Neptis Philyra’ has been discovered?

(A)  Arunachal I‘mdcsh (B) Himachal Pradesh

(€©) Jammu .md K.lshnur (D) Uttarakhand '
(E)  Question nm altempted {j:
ety foraeh RIS S — o T 2 oy ord B0 P
(A) ST Waq ®) fmm@wa
(©) W\“'ﬂtﬂﬁ (D T W
(E) SuRawy_, i
Who has become the fi rst woman scientist to win the ‘G. D. Birla Award’ fogggientiﬁc research?
(A) Dr. Aditi Sen De (B) Dr. Rani Chatterje‘g’
(C) M. Fatima Blbl (D)  Sipra Guha Mukherjee
(E)  Question npt attempted o
S ST 5 810 ft @ et e iy aef e e s A 417
OREE e SRR
© ‘ﬂﬁmé’ﬁﬁ ' D) RmmErmEst
(E) amﬁaw ¥ i

Out of 2000 employees n an office, 52% are graduates. 60% of the employees dre male and 50% of the:

employees are graduates Then how many female employees are graduates? * i

2000%&%31?;@11@%2%%% 60% HHE 999 2 37T 50% Tow FAaH T 3 s

AR FTaH 87 ; ,g O
(A) 430 = NB) 440 =y
(C) 460 W (D) 410 ii
(E) Question n;oqt"‘httempted / aﬂ)ﬁﬁ?r e !é,
The value of1059275+ logy79 is: i
loge27 + logy,9 FTHMA 2: ' >
(A) 13/6 L 4 : B) 12 i
©y? 9/5 < (D) 5/6

(E)  Question npt pttempted / TR 75 0

In the figure g:veﬁ"be]ow, PQR is a triangle. QR is parallel to PM, If QR-—E‘iﬁi(‘ then what is the val¥®

ZRPM? L

=it
aﬁéarrémﬁft_,yonqmﬁgﬁl QR , PM % ¥ARF 81 3k QR=PR &, 7t Rp\ a5y sy e €T

v~

>

v

O

ST

L)

ST

(B) 100° 0

(C) 95° S 4,
Question not attempted / 3raiE w4 l;



144 Vikram Sarabhai Space Centre is located at-

(A) Thiruvananthapuram (B)  Sriharikota
© Hydel:abad (D)  Bengaluru
(E) Question not attempted

ATTTE T HeT (3iafier Thg) fea 2-

fereaaq™ (B) fefEnter
(C) T EU(
(E) gafiawa

145 A coil of wire has an area of 600 sq cm and has 500 turns. If it carries 1.5 A current, its

moment is -
(A) 15Am? (B) 30 Am’
(C) 45Am’ (D) 10 Am’

(E) Question not attempted

T 500 31 B AT BT St BT Ahet 600 T Eft 1 af el 1.5 Rt g AT

(A) 15 g (B) 30 YfpqaTHE
(C) 45 g e (D) 10 tfegar e
(E) uid 5
146 When the cornea is not spherical in shape, the defect of vision in this eye is called -
(A) Hypennetropia ot (B) Astigmatism
(C) Cataract K9 (D) Myopia

(E) Question not attempted ' 3
mﬂ%@mﬁmﬁmﬁm%,ﬁwm%hﬁ@wmm%-

(A) &@®) (B) uftemfesy (3tfga)
Tz (fmEEg) (D) e ()
(E) HaRawd
147 “3fuq 1 fifea sua 2-
(A ® 7
“© 3 (D) &
(E) FHafa 94 .
148 ?ﬂ’ﬁﬁgﬁﬁtﬂﬁﬂﬁ- i)
it (B) afe ;I /
() T ' (D) I -
(E) At 4 _
149 Freferfiaa i & forme s afe e 82
(A) W Mﬁw
(c) = (D) WAw
(E) rafand |

150 =T 3 STe o fe 3 b e e B €7 \I
ﬁ(?ﬁw (IH. ura
fg)\m

) A W :
S17 ] @ 31

magnetic dipole

e g 2, A e
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